Assignment #6.





Due:  Thursday  Nov. 15.

Note: I placed more drill problems in the lecture notes folder. Workout as many problems as you feel like, in teams or alone. If you wish, please submit or come discuss with me any solutions you have. Only your solutions will be posted. It is not required to turn in any drill problems.

Programming assignments.

1. Codes for basic operations for red black trees are included in the book. Add to the code the following methods:

a. Delete a node from the red black tree.

b. Count the number of leaves in a tree.

c. Return the height of a tree.

d. Return a list of all keys in a tree between a and b.

        Data (integers) to be read from a file called f:\tcss343\trees.txt

Instructions.

        Your program should load the integers into two trees: the first a binary search tree (numbers should be entered in the same sequence they are stored in the file) and the second: a red black tree. Offer the user the following options:

a. Insert, delete a new number (ignore repetitions).

b. Return a count of the leaves.

c. Return the height of a tree.

d. Return a list of all keys in the tree between a and b, where a and b are input by the user.

Remember! A red black tree is a binary search tree.

Delete the first 1000 entries in the trees encountered by preorder traversal. Return the height and a count of the leaves for both the binary search tree and the red-black tree.

PAY ATTENTION TO A PROPERLY DESIGNED USER INTERFACE.

YOU CAN CREATEB A PRACTICE FILE USING THE WRITEINTEGERS.JAVA DEMO FILE.

